
Y2 – Autumn – Block 2 – Step 8 – Add to the next 10 Answers

Question Answer

1

a) 10
b) 20
c) 30
Each answer is the next 10 after the first number in the addition.
2 needs to be added to the number to get to the next 10 because there are 8 ones in 
each of the numbers

2
The next multiple of 10 after 37 is 40

3

a) 30
b) 70
c) 20
d) 100

4

a)

b) 82 + 8 = 90

5 35 + 5 = 40

6

multiple possible answers, e.g.
34 + 6 = 40
54 + 6 = 60
94 + 6 = 100

7

a) 10
b) 10
c) 5
d) 4
e) 8
f) 50
g) 70
h) 5
i) 24
j) 8

8
a) If the first number is 1 more than 55, then the second number must be 1 less than 5
b) 4

40

90


